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coming up



Question 1

NO    + O3 à NO2 +  O2

Overall: O3 + O à 2O2

NO2 + O     à NO    +  O2

Step 1

Step 2



Question 2

CH3CH2CH2CH2Cl + NaOH → CH3CH2CH2CH2OH + NaCl 
Butan-1-ol

Nucleophilic substitution 

The rate would increase because a C–Br bond is 
weaker and broken more easily 



Question 3

CH3CH2I + 2NH3→ CH3CH2NH2 + NH4I 



Question 3

The rate of reaction increases in the 
order 

C-I fastest
C-Br,
C-Cl slowest  

As  the halogen increases in size 
down group 7, the C-Halogen bond 
becomes longer and weaker and is 
broken more easily.

The reaction time is less with tertiary 
haloalkanes than primary  haloalkanes, 
Branched haloalkanes hydrolyse faster 
than straight chain haloalkanes.

For all haloalkanes, the rate increases 
with temperature, eg CH3CH2CH2Cl the 
time taken for the reaction decreases 
by 122 s when the temperature is 
increased by 10 oC. More energy 
available to break the C–Hal bond 

This suggests that the C—Hal bond 
gets weaker as the number of groups 
attached to the C atom in C-Hal  
increases

Changing the halogen

Changing the number of groups attached
to the C in the C-Hal bond

Changing the temperature
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